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Aufgaben-Quickname: 7271
% Quick:
Kiirze durch den angegebenen Wert. o
10 5 10 2 4
a) 5 durch 2 = ¢ b) 15 durch 5 =3 c) 15 durch 3 ==
d) 1—% durch 2 = %
Aufgabe 2 Quick:
Kiirze durch den angegebenen Wert. o
a) 22[ durch 2 = % b) %g durch 2 = % c) %8 durch 10 = %
d) 8 durch 3 = % e) % durch 3 = % f) % durch 2 = %
g) 1g durch 4 = § h) & dwch 3 =3 i) 12 durch 5 = 2
i) % durch 2 = %
Aufgabe 3 Quick:
Kiirze durch den angegebenen Wert. o
1 9 1
a) 65 durch 13 = ¢ b) gg durch 9 = 15
c) 66 durch 2 = % d) il% durch 3 = %
e) 86 durch 2 = %2 f) 55 durcch 3 = 3
g) 2F durch 3 =3I h) 20 durch 13 = 2
i) 8(2) durch 2 = % j) 211% durch 2 = %
Aufgabe 4 Quick:
Kiirze durch den angegebenen Wert. o
22 11 30 10
a) 55 durch 2 = {7 b) g3 durch 3 = 73
¢) w2 =5 d) & durch 2 =% ¢) 3 durch 5 = %
20 10 6 3
f) 29 durch 2 == 11 g) 14 durch 2 = 7
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h) & durch 2 = 5
j) :1))—% durch 2 = %

Viel Erfolg!
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i) 211% durch 2
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